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Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of hundred multiple-choice type of questions.

be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle or half circle or semi circle in the Answer Sheet, it will not
be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.
The candidate must handover the OMR Answer Sheet to
the invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
The candidate is allowed to take away the carbon copy of
OMR Sheet and used Question paper booklet at the end of the
examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.
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1. Which one of the following theories
advocated “Value -neutrality” ?
(A) Classical Public Administration
(B) New Public Administration
(C) New Public Management
(D) New Public Service

2. The concept of “Democratic Administration”,
as part of Public choice approach is given by
(A) Ferral Heady
(B) Vincent Ostrom
(C) E. Goffman
(D) Edward Weidner

3. Reservation policy is also known as
(A) Protective Discrimination Policy
(B) Policy of Compensatory Justice
(C) Primitive Discrimination Policy
(D) Both ‘A’ and ‘B’

4. Match the following List-l with List-lIl by
choosing the correct code.

List -1 List -1l
a) Kautilya i) Functions of the
Executive
b) Max Weber i) The Ecology
of Public

Administration
iii) The theory

of Social and

Economic

Organization
d) Chester Barnard iv) Arthashastra

c) Fred Riggs

a b c d
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5. Which one of the following is an odd word/
phrase among the following ?

(A) Non- Governmental Organizations
(B) Voluntary Organizations

(C) Third Sector Organizations

(D) Para-statals

6. Which one of the following countries first
evolved Family Planning Programmes ?

(A) USA (B) China
(C) India (D) Pakistan

7. Public Choice Theory advocates
(A) Centralized public agencies
(B) Institutional pluralism
(C) Benchmarking public performance
(D) Public utility maximization

8. ‘Agenda setting’ in policy making process
refers to

a) ldentifying problems

b) Understanding causes

c) Evaluating policy outcomes
d) Setting institutional agenda

Choose the correct code given below.
(A) a,b,c (B) a,b,d
(C) b,c,d (D) a,c,d

9. Which one of the following statements

is true about State-Local Relations in

India ?

(A) They are cast in favour of the State
Governments

(B) They are cast in favour of local
bodies

(C) They are cast in favour of neither
State Governments of local bodies

(D) They are a non-issue from the
beginning
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10.

11.

Assertion (A) : Government needs to
be decentralised and debureaucratised
because no individual or group knows
enough skills to manage effectively and
humanely.

Reason (R) : Despite limited ability
governments always assume more
responsibilities than they can effectively
handle or manage.
(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which one of the following is not a factor
that lead to the New Economic policy — 1991 ?
(A) Foreign Exchange Crisis

(B) Fundamentalism

(C) Collapse of Soviet Union

(D) Ascendence of Macro-economics

12. Which one of the following are salient

features of New Public Management ?
a) Efficiency and Effectiveness
b) Independency and Accountability

c) Competition and Collaboration

(A) a,b,c,d (B) b, c,d

)
)
)
d) Committed Bureaucracy
)
(C) (D) a, ¢, d

a,b,c
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13.

14.

15.

16.

‘Functional Budget’ is also known as

(A) PPBS

(B) Performance Budget

(C) Zero-Based Budget

(D) Line-ltem Budget

The 4 ps of departmentalization advocated

by Luther Gullick are

(A) Purpose, process, persons, place

(B) Purpose, plan, programme, persons

(C) Plan, process, persons, place

(D) Process, planning, promotion,
persons

A State Information Commissioner can be

removed from office

(A) By an order of the State Chief
Information Commissioner

(B) By the Supreme Court of India

(C) In a manner similar to the removal
of a Judge from his/her office

(D) By an order of the Governor, on
the basis of Supreme Court’s
inquiry report

Which one of the following is not true
about the New Economic Policy-1991 of
the Government of India ?

(A) It promoted privatisation
(B) It negated privatisation
(C) It promoted liberalisation

(D) It advocated globalisation
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17. In the context of social science research
which one of the following pairs is highly
inter related ?

(A) Normativism and Empiricism

(B) Historical Method and Experimental
Method

(C) Logical Positivism and Empiricism
(D) Ethnocentrism and Scientific
Method
18. The notations ‘Ibid’ and ‘et al’, in a research
article, respectively refer to
(A) ‘In the same place’ and ‘And others’
(B) ‘And others’ and ‘In the same place’

(C) ‘In the same area and ‘And all
others’

(D) ‘By the same author’ and ‘In the
same book’
19. Which of the following is a means for
judicial control over administration in India ?
a) Judicial Review
b) Writs
c) Adjudication
d) Public Interest Litigation
(A) a,b, c (B) b,c,d
)

(C) a,b,d (D) a,c,d

20. C and AG Acts as a friend, Philosopher
and Guide of which of the following
committee ?

(A) Public Estimates Committee

(B) Public Accounts Committee

(C) Committee on Public Undertakings
)

(D) Privileges Committee of Lok

Sabha
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21. Audit in India derives its authority from
which of the following articles of constitution
of India ?

(A) Article 142 to 146
(B) Article 147 and 148
(C) Article 148 to 151
(D) Article 148 and 149

22. Which one of the following is not a function
of Staff Agency ?

(A) Planning

(B) Advising

(C) Achieving goals
(D) Consulting

23. The classical theory of administration is
also known as

(A) Historical theory

(B) Locational theory

(C) Mechanistic theory

(D) Human Relations theory

24. “Good Governance” and “participating civil
society for Development” was stressed in
the World Bank report of
(A) 1992 (B) 1996
(C) 2000 (D) 2008

25. Which one of the following theories
advocates organizational plurality ?

(A) Systems theory

(B) Behaviour theory

(C) Public choice theory
(D) Human relations theory

26. Which one of the following statements
is not true about the office of the District
Collector ?

(A) It succeeded the Karori-Fauzdar of
Mughul Government

(B) It dates back to the year 1772

(C) The East India company appointed
Collectors

(D) The District Collector is also known
as Chief Commissioner

21. 5758 oreroNo (RS0 350 9 (Audit)
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27. The Cabinet Secretariat was formed in the

year
(A) 1947  (B) 1948
(C) 1949 (D) 1950

28. Questions that intends to pull or push the
Respondent towards a certain response

is known as
(A) Open ended questions
(B) Closed ended questions
(C) Leading questions
(D) lrrelevant questions
29. The Research Design that controls
extraneous variables is known as
(A) Case Study Method
(B) Descriptive Research
(C) Experimental Research
(D) Exploratory Research

30. Which of the following is a Social Security

Act in India ?

a) Employees Provident Fund Act, 1952

b) Industries (Development and
Regulation) Act, 1951

c) Workmen’s Compensation Act,

1923
d) Right to Information Act, 2005
(A) aand b (B) aandc
(C) a,b, c (D) a,c,d

31. Which one of the following in part of
Urban Poverty Alleviation programmes
suggested by National Urbanization
Commission ?

(A) Employment Generation

(B) Shelter and Physical Environment

(C) Nutrition Supplement

(D) Development of Institutional
Capacities

27. 20265 HITOAND0 2 HOIHEH0E"

DD ?
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32. Which one of the following is not the

function of competition commission of India ?

(A) To consider and approve cases of
mergers and acquisition

(B) To suggest reforms in organisation
and functioning of financial institutions
and Banks

(C) To conduct in house market and
sectoral research

(D) To promote culture of competition

33. Assertion (A) : Mahatma Gandhi National

Rural Employment Guarantee scheme
has not made any impact on the lives of
rural poor.

Reason (R) : Social Audit could minimize
the defects in implementation of social
programmes.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

34. Article 243-B of the Indian Constitution

provides for

(A) Constitution of Panchayats

(C
(D

Election to Panchayats

)

(B) Gram Sabha
)
) Reservation of seats for women

] S
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35. Which one of the following is the odd one
among the following four ?

(A) Indian Civil Service

(B) Indian Administrative Service
(C) Covenanted Civil Service
(D) Imperial Police Service

36. Which one of the following committees
on Panchayati Raj recommended Zilla
Parishad as the lynchpin of the Panchayati
Raj system ?

(A) Ashok Mehta Committee

(B) Balavantarai Mehta Committee
(C)

(D)

L.M. Singhvi Committee

Ramvilas Paswan Committee

37. Which form of public undertaking in India
is the oldest but has fallen into disfavour ?

(A) Statutory corporation
(B) Joint stock company
(C) Departmental undertaking

(D) Holding company

38. Which Commission recommended the
institutions of Lokpal and Lok Ayuktha ?

(A) First Administrative Reforms
Commission

(B) Second Administrative Reforms
Commission

(C) Union Public Service Commission

(D) Finance Commission

Il &
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39. Which one of the following is central to
Max Weber’s ideal type bureaucracy ?

(A) Efficiency and Rationality
(B) Responsiveness and Re-organisation
(C) Motivation and Goal achievement

(D) Policy Formation

40. Which of the following characterise a
prismatic society ?

a) Poly-normativism

b) Nepotism

c) Function — specific
d) Poly functionalism
(A) a,bandc

(B) b,candd

(C) a,band d

(D) a, b,candd

41. Which one of the following pairs are

inversely related i.e. if one increases the
other decreases ?

(A) Authority — Coordination
(B) Hierarchy — Span of control
(C) Delegation — Decentralisation

(D) Motivation — Morale

12
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42. Match the following by choosing the
correct code.

List — | (Author) List - Il (Concept)

a) H. A. Simon i) Mixed
Scanning

b) F. W. Riggs i) Incrementalism

¢) Charles Lindblom iii) Bounded
Rationality

d) Yehezkal Dror  iv) Ecological
Approach

a b c d

(A) i [ iv

(B) i [ iv il

(C) iii v i [

(D) i i iv i

43. Public Administration has been defined as
“The organisation and direction of human
and material resources to achieve desired
ends” said by
(A) L.D. White
(B) H.A. Simon
(C) Dimock and Dimock
(D) J.M. Pfiffner

44. The concept of “Bounded Rationality”
is related more closely to which of the

following ?
a) Economic decisions

b) Optimizing levels

c) Administrative factors

d) Satisfycing
Select the correct answer using the codes
given below.

(A) aand b
(B) a, band c
(C) cand d
(D) a,candd
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45. Assertion (A): Comptroller and

Auditor General of
India is appointed
by the President of
India.

. He is a constitutional
authority.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

46. Impeachment proceedings may be initiated
against the President of India by

(A) Lok Sabha
(B)
(C) Either house of Parliament
(D) Speaker of Lok Sabha

Reason (R)

Rajya Sabha

47. Who among the following is called as
primus inter pares ?

(A) President of India
(B)
(C) Speaker of Lok Sabha
(D)

Prime Minister of India

Chairman of Rajya Sabha

48. Which of the following are not part
of Sustainable Development Goals
mentioned by the U.N. ?

a) Protection of indigenous population
b) Reducing Inequalities
c) Affordable and clean energy
d) Increased agricultural production
(A) a (B) b, c
(C) a (D) b,c, d
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49. Swachh Sarvekshan’ a sanitation survey
under “Swachh Bharat Abhiyan”, is
carried out under the Ministry of Urban
Development by

(A) Local urban bodies

(B) Quality council of India
(C)

(D)

Teachers of schools

Elected members of urban local
bodies

ATAL Innovation Mission (AIM) is initiated
by

(A) NITI Aayog

(B) Department of Science and
Technology, Government of India

(C) Prime Minister’s Office

(D) Defense Researchand Development
Organization (DRDO)

50.

51. Who said “Development Administration
means” carrying planned change in the
economy or capital infrastructure or to
a lesser extent in the social service,

especially health and education.”
(A) Merle Fainsol

(B) Edward Weidner
(C) Montgomery
(D) George Gant

52. Whatis common to Fred W. Riggs, Talcott

Parsons, Robert Merton and Almond ?

(A) They all used structural Functional
Approach

(B) They all used Normative Approach
(C) They all used Legalistic Approach

(D) They all used Policy Sciences
Approach
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53. In personnel administration ‘Job loading’
refers to

(A) Shifting of an employee from one job
to another

(B) Deliberate upgrading of responsibility,
scope and challenge

(C) Deliberate downgrading of position
(D) Making the job interesting

54. What positions did Woodrow Wilson hold ?
a) Governor of New Jersey
b) President of U.S.A.
c) Recipient of Nobel Prize
d) President of Princeton University
(A) a (B) a, b
) a

(C) a, b, c (D) a, b, c,d

55. Match List — | with List — Il and choose
the correct answer from the options given

below.
List—1 List—1I
(Authors) (Books)
a) Thomas R. Dye 1) The policy
sciences
b) B. W. Hogwood 2) Public policy
and L.A. Gunn making
re-examined
¢) Harold Laswell 3) Understanding
public policy
4) Policy Analysis
forthe real
world
a b c
(A3 4 1
B)2 4 1
(C)3 2 4
(D) 3 1 4
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56. ldentify the correct sequence of four steps
in position classification.

(A) Jobanalysis, standardization, grouping
of positions, position allocation

(B) Job analysis, position allocation,
grouping of positions, standardization

(C) Job analysis, grouping of positions,
standardization, position
allocation

(D) Job analysis, standardization,
position allocation, grouping of
position

57. In the process of Government Budgeting

‘Guillitine’ is applied when Grants are

(A) Discussed and approved

(B) Discussed but not approved

(C) Discussed but reduced
)

(D) Not discussed for want of time

58. Match List — | (Theorist) with List — Il
(Theory).
List — I (Theorist) List — Il (Theory)
a) Hebermass 1) New Public
Service
b) Vincent Ostram 2) Critical Theory
c) Frederickson 3) Public Choice
School
d) Denhardtand 4) New Public
Denhardt Administration
a b c d
(A)2 3 4 1
B)2 3 1 4
)3 2 4 A1
(D) 3 2 1 4
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59. “The Professional Manager’ is authored
by
(A) M.P. Follett

(B) J. G. March

(C) Peter Blau

(D) Douglas McGregor

60. Which one of the following functions

of the Prime Minister is provided in the

constitution ?

(A) Allocation of portfolios among
ministers

(B) Policy announcements of the
Government

(C) To communicate all decisions of the
cabinet on the affairs of the union to
the President

(D) Dismissal of a minister from the council

of ministers

61. Which one of the following is not a source

of income for village panchayats ?
(A) Voluntary donations

(B
(C
(D

Grants from state Government
Tax on agricultural income

)
)
)
) Property tax

62. Assertion (A) : Transparency

in administration
is a salient feature of
Good-Governance.

: RTI Act of 2005

promotes transparency

and Good-Governance.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

Reason (R)

Il oo
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63. “Right to Information” was first introduced in
(A) UK
(B) USA
(C) India
(D) Sweden

64. Article 213 of the Indian constitution deals
with

(A) Discretionary powers of the
Governor

(B) Promulgation of ordinances by the
Governor

(C) Appointment of High Court Judges

(D) Emergency powers of the
Governor

65. Trained incapacity is a concept propounded
by
(A) F. Herzberg
(B) F.W. Taylor
(C) Thomas Veblan
(D) H.A. Simon

66. Assertion(A): The knowledge
of policy sciences
will be utilized for
consideration of
issues, exploration
of alternatives and
clarification of goals.

Reason (R) : Policy sciences does
not believe in social
experimentation for
finding solutions to
present and emerging
social problems.

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Il & 19
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67. Identify the correct sequence in ascending
order of Maslow’s hierarchy of needs.

a) Esteem

b) Affiliation

c) Self actualization
d) Safety

e) Physiological
(A) e, d, b, a,c
(C)

(B) e, b,d, a,c

d, e, b, a,c (D) d, e, a,b,c

68. Identify the logically correct sequence of
steps in policy analysis.

a) Problem identification

b) Forecasting and evaluating
alternatives

Alternative courses of actions
Policy choice

a,b,c,d
a,d, b, c
a,d,c,b
a,c,b,d

Cc

)

d)
(A)
(B)
(C)
(D)

69. Assertion (A) : Open model theory
rejects rigidity,
inflexibility and anti-
humanistic view of

bureaucracy.

Reason (R) : Closed model theory

accepts organization
as a dynamic
networking structure.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Il oo
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70. |dentify the chronological order in
which the following publications in Public
Administration appeared.

a) The principles of Scientific
Management

b) Creative Experience

c) The papers on the Science of
Administration

d) The study of Administration
(A) d,b,a,c (B) d, c, b, a
(C) d,b,c, a (D) d, a, b, c

71. Which of the following features of

development administration does the New
Public Administration share ?

a) Effective Co-ordination

b) Change orientation

c) Goal orientation

d) Temporal dimension

(A)abc (B) b, c, d

(C) b (D) c, d

72. Match List — | with List — Il and choose

the correct answer from the options given
below.

List — I (Author) List - Il (Books)

1) The Functions
of the Executive

a) Rensis Likert

b) Abraham Maslow 2) New Patterns of
Management

3) Motivation and
Personality

c) Yehezkel Dror

4) Ventures in
Policy Sciences

a b c
A)1 2 3
B2 3 4
C)2 1 4
(D) 1 3 4
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73. Who among the following, is regarded as
the father of the concept of “Development
Administration” ?

(A) U. L. Goswami

(B) George F. Gant
(C) Milton J. Esman
(

)

)

D) John D. Montgomery

74. Thetotal number of “Departmentally related
subject committees” of the parliament to
scrutinize the Demand for grants are

(A) 17 (B) 24
(C) 22 (D) 28

Public Administration
theorists have
contributed to the
rational approach to
policy making and
implementation.

: New Public
Management
emphasizes the role
of public agencies in
managing and delivery
of Public Services.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

75. Assertion (A) :

Reason (R)

76. Which state in India has provision to
“recall” elected office bearers from local

self government bodies ?
(A) Bihar

(B) Madhya Pradesh
(C) Kerala

(D) Haryana

)
)
)

Il oo
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77. Which one of the following is the function
of the State Finance Commission ?

(A) To estimate the revenue deficit of the
state

(B) Development requirement of the State
Understate Plan

(C) Distribution of taxes between State
Goverment and Local bodies

(D) Assessing budgetary needs of
various departments of the State
Government

78. Which one of the following committee/
commission is not related to police reforms
in India ?

(A) Gore Committee

(B) National Police Commission
(C) Ribeiro Committee

(D) Sarkaria Committee

79. Kalekar Commission was appointed by
the Government of India to determine the
criteria for identification of
(A) BPL population
(B) Economically backward upper

castes

(C) Socially and economically
backward communities

(D) Socially and economically backward
classes

80. Identify the ascending order in which the
following positions in secretariat hierarchy
is arranged.

a) Joint Secretary
b) Under Secretary

)
c) Secretary
d) Deputy Secretary
(A) b,d,a,c (B) b, a, d,c
(C) a,b,d, c (D) a,d, b, c

Il &
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77. @ocj 28 NS00 TR0 Bosoo Do
AE e ?

(A) 075 TETg &b olToieo

(B) o3 (e79sE” o7 0] wddoes
o000
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78. €0t 28YHedsd Soeden/ S0B508” gresiys
PO 50,8050 Borrogio 88 8 ?
(A) 7D 503

(B) 55 0D 52008

(C) 638" 520¢3

(D) o780 52063
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a) eroooe Eed
b) eosd 2iEed

)
C) 2Eed
d) &gl wigesd
(A) b,d,a,c (B) b, a, d,c
(C) a,b,d, c (D) a,d, b, c
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81. Which of the following are not All India
Services ?

a) Indian Police Service
b) Indian Postal Service
c) Indian Forest Service
d) Indian Foreign Service
) a (B) a, b, c
(D) b,c,d

(A

(C) b
82. Assertion (A) : Federalismisapolitical
contrivance to strike an
equilibrium between
regional aspirations
and country-wide
needs.

. Union-state relations
in India, under the
constitution of India,
have made the states
subordinate to and
dependent on the
centre in various
ways.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Reason (R)

83. The state that looks after the minimum
well being of all the citizens is known as
a
(A) Police state
(B) Regulatory state
(C) Retreatist state

(D) Welfare state

84. Which committee/commission coined the
term ‘Performance Budgeting’ ?

(A) Whitlez Committee
(B) First Hoover Commission
(C) Taft Commission
(D) Fulton Committee

Il oo

81. 52 o ﬁzj@ 38’ D 585000 who T
26500 579 7

a) 30G0oHS MO HOH
b) gocdois PR B0
C) 30&ONS @“65 25650
d) ao&oi):s @“@5 25650
(A) a (B) a, b, c
(C) b (D) b, c,d
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DB 0Bo0gS TP B DO
SEVENAS
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oo (R) @ e708 Tergolio (1570
go@—@@éoaomeéﬁ
TP DA BB’
B0 wbosToonT &ots
Jore DOOVLITTO

(A) (A), (R) 3o So2 9080k (R), (A)
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(B) (A), (R) docsr 505 520 (R), (A)
539 5TE 965

(C) (A) 5350, 520 (R) oy
(D) (A) 83, 520 (R) $058

83. T30S’ eBRE (Hese HOEIT BT EHLbEwd
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(A) 285 ooz
(C) es3050es Tresgo
(D) 20850 oresgo
84. D 52065 /50085 ST @5l ©d
U850 Dood ?
(A) Dexf 506
(B) Toocsed 52755 52063
(C) &7 500S
) D

(D) 98 52063
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85. Who edited “ Papers on The Science of
Administration” ?

(A) Luther Gulick and L. Urwick
(B) Barnard and Simon

(C) F.W. Taylor and Riggs
(D) Mooney and Barnard

Civil servant is the
servant of a Minister.

. He has to ‘advice’ the
Minister without ‘fear
or favour’.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

86. Assertion (A) :

Reason (R)

87. In the comparative study of Public
Administration, Riggs emphasized a shift
from

a) Normative to empirical

b) Bureaucratic to non-bureaucratic
c) ldeographic to nomothetic

Which of the above statements are

correct ?
(A) a,b (B) b, c
(C) a, c (D) a, b, c

88. Assertion (A) : Simon called principles

of organization as
proverbs.

: He was a critic of
classical approach.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Reason (R)

Il &
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(C) a, c (D) a, b, c
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89. Choose the correct code given below,
about the assumptions of Theory ‘X’.

a) Dislikes work and attempts to avoid it

b) Has no ambition, wants no
responsibility

c) Accepts change

d) He is particularly intelligent
(A) a,b (B) a,b,c
(C) b,c,d (D) a,c,d

90. Match the following List — I with List — Il
by choosing correct code.

List—1
a) Administration can
be defined as the
activities of groups
co-operating to
accomplish
common goals

List-1I
i) J.M. Pfiffner

Administration is

the organization

and direction of
human and material
resources to achieve
deserved ends

A kind of activity
found in both public
and business affairs

Public Administration iv) L.D. White
consists of all those

operations having for

their purpose the

fulfilment or enforcement

of public policy

i) H. Simon

iii) J.S.Hodgron

a b c d
(A) ii [ i v
(B) i i i iv
(C) iv i iii i
(D) i i iv i

26

89. X’ drrodoy exrdors Gol &N §&od
@603335 TR JoDE B oB0B0G.

a) ¥ @0l FRIVEEHeo, AJB Bo
$508%5¢20

b) §6%en, ergies B5F5e0
C) SrEaydo exipEidero
d) e EdgEom BIPIICE
(A) a,b (B) a,b, c
(C) b,c,d (D) a,c,d
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THE DV DI 256
TEETTed’ 250880
505000 5B 0SS
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57955 $080X0 D189
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5o
[
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a b c d
(A) ii i i v
(B) i i i iv
(C) iv i iii i
(D) i i iv i
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91. Which one of the following is not related
to the meaning of ‘administrate’ ?

(A) To disserve the people
(B) Management of affairs

(C) Looking after the people
(D) To serve the people

92. Pretesting is done to check the validity of
(A) A questionnaire
(B) An interview
(C) An interview schedule

(D) Content analysis

93. Which one of the following is not true ?

(A) Secretarial means the secretary’s
office

(B) Secretary is the principal advises to
the Minister

(C) Secretary’s primary job is policy
execution

(D) Secretaries are usually IAS
officers

94. Which of the challenges are faced by
the public sector in India in the era of
Globalisation ?

a) Transformation

b) Competitiveness

) Sustainability

) Overly centralised organisational
structure

c
d

Select the correct answer using the
codes given below :

(A) a,b,candd
(B) a, band d
(C)

(D)

b, cand a
c,aandd

27

91. 52800 eIS A0 ‘Wl ReT & 56 eI
5022080008 T°¢0 ?

(A) ez e985°S0 DO
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(C) Pzt 30500
(D) e 250G
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B 355550 ATOOBEIZ D

(A) ©72y59

(B) soogr-5008 (interview)
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(D) 2xe% J22er (Content analysis)
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(B) 505550y 20093 (T SO
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(@]
%ﬁ

ROB

d) e SoBsBokeds 5558 JT%E0
a, b, ¢ 06w d

(B) a, b 5o8axw d

(C
(D

)
)
)
(A)
)
) b, ¢ 508aw a
)

C, a So0ox» d
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95. ‘Right to Equality’ refers to
a) Non-discrimination by state

b) Equal pay for equal work
c) Equal protection before law
)

d) Equality of opportunities in

employment

Select the correct answer using
codes given below.

(A) a,candd

(B) a, band c

(C) b,a,candd
)

(D) ¢, b,aandd

96. Match the following.

List -1 List -1l
(Institution) (Type of Authority)
a) Comptroller and i) Executive
Auditor General Authority
of India
b) NITI Aayog ii) Constitutional
Authority
c) IRDA i) Regulatory
Authority
a b c
(A) i [ iii
(B) i i i
(C) i i iii
(D) iii i i

95. SRSy T, BID BPAH00 ?
8) Tress0 DNFPTBON® €060
b) 9575 B8 BETHS Do
C) B0 008 B5 S5 Oytico
d) &r0S° ot SErdessEres
208 §60 00 T8 esmreanto IHEod
(A) a, c5odand
(B) a, b 5080w C
(C) b, a, c 2060xnd
(D) c, b, a 50805 d

96. 635 — 1 D 0638 — I 000 8o MHYod

e3BRGBOE.
Ses =1 ISER |
(Soge) (88750 )

a) eroBLs go@f@é i) SOogrs

5080 e3&esd 05°E0
BHES
b) D& esc3rh i) orezgoreocs
9§30
C) S ErRoeTDBG i) Dosrmos
503 (IRDA) ZIai3ele)
a b c
(A) ii i iii
(B) i i i
(C) i i iii
(D) iii i i
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Question Nos. 97 to 100 E — Governance

E-Government is an institutional approach to
jurisdictional political operations. E-Governance
is a procedural approach to Co-operative
administrative relations, i.e. the encompassing
of basic and standard procedures within the
confines of public administration. It is the
latter that acts as the lynchpin that will ensure
success of the delivery of e-services. The
exchange of information between governments
and various segments of the public similarly
occcurs increasingly by way of electronic
forms. Businesses report many of their
financial and functional operations to their
governments via the Internet, as part of their
regulatory requirements. Data on the kinds,
volumes and revenues of transactions go to
the government’s statistical repositories, to the
finance departments for taxation purposes and
to the particular departments that oversee the
kind of business being conducted (automobile
production figure go to the department of
transport, etc.). Those of the citizenry who
are recipients of welfare and social assistance
services (whether they be individuals or
organizations) frequently use government
websites and e-mail to exchange information
and file claims. By these means, governments
check on eligibility, inform claimants of the terms
and conditions of support arrangements and
provide training or instructions on such matters
and job searches and income management.

The “final frontier” of e-government is the
attempt at extending “e-democracy”. Voting
has been conducted on-line, and will likely be
extended once the design of the user-interface
has been rendered more “user-friendly” and
the security of the information has achieved

Il & 29

5. 97 Sooc 100 3 — H:50y5
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S DI, e SrTre O0r (A0S0 0o
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DFBIE) STradd oy STy Mo8oD (DD
2OAHEAEO BEHBRND.

3-(Qe08gY) ‘epd SO’ 5o a—@wiﬁzﬁogi)& Q0o
D B, SeIohl eSBS DEASE® ethorhoBnd. B
BEA0 abreb-50e60 DOAD 5 505 obresd
@30(% B0 88 TG0 3"@2,550 0EOR0EB00H).
QITTC PEH ABo0E), SIS B DIT00ETE®

DEOROBOIE. 0COSD ESSSSEV S I RISICVRVE) aeN S
Dodten S08SE0 2R 50 HdTre Koo

ET000. oS BB0g D006 JoRE ooeEd
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more credibility. Consultation on issues of
concern has been widely practiced, but with
mixed results. The difficulty in this case is with
clarifying the terms of engagement. There are
three alternate formats available : (1) “Tell us
what you think/feel” merely asks for public input
without any promise of either reporting what
was presented, or using the substance of the
suggestions; (2) “Share your views” carries the
promise to at least report back to the public the
transcript of what was provided as advice, with
or without comments as specified in advance;
(8) “Let’'s co-operate” involves the specific
commitment to not only report back, but to
actually use what was presented or explain in
convincing terms why it was not used. More
e-government is still to come. The driving forces
behind all of these developments will continue,
as will the digitizing of governments.

97. The success of the delivery of e-services
depends on

(A) Data
(B)
(C) E-Governance
(D)

E-Government

E-Democracy

98. Read the statements below and identify
which of them are correct ?

a) E-government, e-governance and
digitalization are all different

b) The goal of e-government is to achieve
e-democracy

c) Design of user-friendly interface in not
mandatory for e-governance

(A) a,b, c (B) a,c
(C) b, ¢ (D) a, b

] S
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B3 5076 FTGETHO0 e e ed(1) 2ot
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(A) a,b, c (B) a,c
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99.

“Terms of engagement” refers to which of
the following ?

a) Feedback

b) Co-operation

c) Training

d) Procedural approach

(A) a, b

(B) a, b, c

(C) a,c,d

(D) ¢, d

100.

Assertion (A) : E-governanceis exchange
of information between governments and
various segments of public by way of
electronic forms.

Reason (R) Citizens who use

government websites and e-mail to
exchange information and file claims have
largely benefitted from e-governance.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

99.

100.

“36,y &B doReEAo0es o8 T3S De3

X000 ?

(C) a,c,d

(D) ¢, d
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